88 1% - = s by = P I ¥
B/ K7xv%/SUS £33 -Oyhuhyh sas===P %
HE2022.5 [5rEff 2022458 ~] wrea T BRA VT I HAE
mf &3y ARt F7AyF 43P K| SUS &%y Kb
L ~F#(mm) 1000L 1500L 2000L 3000L 1000L 2000L 1000L 2000L
3/g 730 1,580 1,410 4,600 1,760 4,420 2,480 4,940
1/, 1,690 3,130 3,060 8,260 5,090 12,000 4,850 9,690
5/g 4,730 10,380 8,560 21,670
(W7 = P /i)
804 % BBy by b 806 % W SUSTEY Yy b
ik (F-EFuh) ik (F-EFuh)
WE2022.2 3/5% 40 140 %€ 2022.2 3/gX 40 1,360
1/9X40 200 1/9X 40 2,390
3/ X 50 "7 400 (HA7 = /)
1/9X50_v7% 570
(WAL = F /1)
880 % - A 44 L
HiFRIL N F v B i 4 ez P I %
HxE2023.1 [#iEf 2023418 ~] N agcosyoitan
o | M12 | M16 | M20 | M22 FERM BT 3
7 5 v Dk | JISSKHIA#zAL | JISTOK FHAfG R | JIS20K FH AL T
70 6,250 10A M10X60 M12X 70 M12X 70
30 7750 15A M10X 65 M12X70 M12X70
’ 20A M10X65 M12X75 M12X75
85 8,000 25A M10X65 M16 X80 M16X 80
32A M12X70 M16 X85 M16 X85
90 8,750 40A M12X70 M16X85 M16X85
50A M12X75 M16 X85 M16 X85
100 15,750 65A M12X75 M16X90 M16X90
LRIV MIA-T 1 TAATTHIET v Y v—F v My MRETT 80A M16 X 80 M16X90 M20 X 100
- - 100A M16 X85 M16X 90 M20X 110
7= 350 380 440 540 125A M16X85 M20 X105 M22X125
T 150A M16X90 M20X105 M22X125
2y -7| 690 | 1,050 1’409 ] 1,750 200A M20X 100 M20X105 M22X125
(A P/ ) 250A M20X105 M22 X120 M24 X 145
300A M20X 110 M22X120 M24 X 145
<EBSERRRICLY. AN A XOESPBEBBAN B ETOT.
{EARICDLTTEDHERE BBV LET,
MERTHENEOTESEELTVET,
B EER BT (mm)
JIS 5K JIS 10K
2229 e ais e
IIVIBANNFME | B bt S& | T9010-A (75 YBANMFy M MR i =& | T 9010-A
& 2= | TyTr— | T - | B | =T | Tya— | Tre—| €8y
w M 118 2@ 218 | FapukiE| W M 118 2@ 218 | fizboiifE
10A % x50 M10X50 | 10X11X19 | 13X24X3 M10 18X 45 15X 60 12X 60 13X14X23 | 15X28%3 M12 18X 53
15A | %x50 | M10X50 | 10x11x19 | 13x24x3 | M10 | 22x 50 | »x 60 | 12x 60 | 13x14x23 | 15x28x3 | M12 | 22x 58
20A | %x60 | M10X60 | 10x11x19 | 13x24x3 | M10 | 28X 55 | Vsx 65 | 12x 65 | 13X14x23 | 15X28X3 | M12 | 28X 63
25A | %x60 | M10X60 | 10x11x19 | 13x24x3 | M10 | 35X 65 | %x 65 | 16X 65 | 16X18X29 | 19x34x3 | M16 | 35X 74
32A | 1,x60 | M12x60 | 13x14x23 | 15x28X3 | M12 | 43X 78 | %x 70 | 16X 70 | 16X18X29 | 19X34x3 | M16 | 43 84
40A | 1,x60 | M12x60 | 13x14x23 | 15x28X3 | M12 | 49X 83 | %x 70 | 16X 70 | 16X18X29 | 19X34x3 | M16 | 49x 89
50A | 1,x65 | M12x65 | 13x14x23 | 15x28X3 | M12 | 61X 93 | %X 70 | 16X 70 | 16X18X29 | 19X34X3 | M16 | 61x104
65A 5 X65 M12X65 | 13X14X23 | 15X28%X3 M12 77X118 %X 75 16X 75 16X18X29 | 19X34X3 M16 T71X124
80A | %x65 | MI6X65 | 16X18X20 | 19x34x3 | M16 | 90x120 | %x 75 | 16X 75 | 16x18x29 | 19x34x3 | M16 | 90134
100A % X710 M16X70 | 16X18%X29 | 19X34X3 M16 115X 149 %X 75 16X 75 16X18X29 | 19X34X3 M16 115X 159
125A | %X70 | MI6X70 | 16X18x29 | 19x34x3 | M16 | 141x184 | %x 80 | 20x 80 | 20x22x33 | 23x39x3 | M20 | 141190
150A | %x75 | MI6X75 | 16X18x29 | 19x34x3 | M16 | 167x214 | %x 90 | 20x 90 | 20x22x33 | 23x39x3 | M20 | 167220
200A | %x90 | M20X90 | 20x22x33 | 23x39x3 | M20 | 218x260 | %x 90 | 20X 90 | 20x22x33 | 23x39x3 | M20 | 218x270
250A | %x90 | M20x90 | 20x22x33 | 23x39x3 | M20 | 270x325 | %X100 | 22X100 | 20x24x40 | 25x44x3 | M22 | 270x333
300A | %x90 | M20X90 | 20x22x33 | 23x30x3 | M20 | 321x370 | %x100 | 22x100 | 22x24x40 | 25x44x3 | M22 | 321x378
<EE> OFERARRICEVW. RIS ZDRIHELBBANFTHW ETOTAEAMCDLTTENEREHBENLET,

MRET7HAXH2OTSVHERELE L,
g2 — TR ARXAEXRE
R7 v ¥ v — Tk AEXHEXES
Mgy v a ARy bhiE  AEXSME

255



